Code No:

EARTHQUAKE ENGINEERING

Time: 2:30 Hours] [Maximum Marks: 50

NOTES:

I.  Attempt all questions. All questions carry equal marks.

II.  Students are advised to specially check the Numerical Data of question papetsin both
versions. If there is any difference in Find Translation of any question, the/students’should
answer the question according to the English version.

II.  Use of Pager and Mobile Phone by the students is not allowed.

Q1) Attempt any two parts. [2x5=10]

a) Distinguish between Epicenter and Hypocenter.
b) What do you understand by earthquake and tectonic plate.
c) How many seismograph stations are needed to\locate epicenter of an earthquake

Q2) Attempt any two parts: [2x5=10]

a) Mention common modes of failure of’reinforced concrete buildings.
b) What is the liquefaction of soil? Discugs briefly.
¢) What do you understand by: thé concept of predicting the earthquake.

Q3) Attempt any two parts: [2x5=10]

a) Which type of wave isslowest?
b) Distinguish between magnitude add intensity in earthquake
¢) What are ductility'provisions in reinforced-concrete construction?

Q4) Attempt any twosparts [2x5= 10]

a) Discussyeffect of structural irregularities on the performance of RC buildings during
carthgquakes

b) Explain various methods of measurement of earthquakes.

¢) “What is a shear wall? What are its functions?

Q5) Attempt any two parts: [2 x 5=10]

a) What are various lateral load resisting systems? Explain.
b) What are various kinds of dynamic loadings?
c) Which observations may indicate a forthcoming destructive earthquake?
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